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Any Hawking Radiation mg of Black
Holes (BH) Should Be Equal to 1, = h/2p
the total information amount I, of a BH I,

= 4GMJ%C. 1, are not conservative
forever.
Dongsheng Zhang 2/20/2011
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Abstract: It would be proved in this article that, the
minimum information unit I, of any Hawking Radiation
mss Of black holes should be equal to 1, =h/2p the total
information amount 1, of a BH I, = 4GM,%/C. In the
expansive process, the total information amount I, of a
BH should be increased; and in the contracted process,
I keep conservatively.
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